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Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 
 
   

6. Let mass of Rahim’s books = u 

 Mass of Jane’s books = 4u 

 4u – u = 59.4 – 20.1     (Jane’s suitcase minus Rahim’s) 

 3u = 39.3 

 u = 39.3 ÷ 3 = 13.1 kg 

  Mass of empty suitcase = 20.1 – 13.1 = 7 kg 

 

   

Ans:  7 kg 
 

 

 
7. Ratio of spending of Peggy to spending of Alice  2u : 3u 

 Peggy’s amount left minus amount spent =   +9   

 Ratio of money left of Peggy to those of Alice   2 : 1  (2u+9) : 
1
2
 (2u+9) 

         2u + 9 : 1u + 4.5 

 Total amount = 2u + 3u + 2u + 9 + 1u + 4.5 = 8u + 13.50 = 105.50 

 8u = 105.50 – 13.50 = 92 

 u = 92 ÷ 8 = 11.5 

 Amount Peggy had left = 2u + 9 = 2 x 11.5 + 9 = $32 

Ans:  $32 
. 

 

 

 

 

 

 

 

 



P6 Maths SA2 2018 Paper 2 Worked Solutions – River Valley 
 

 www.sgtestpaper.com  3  
 

8.  

    

         Ans:  (a)  as shown 

 (b)  as shown 
 

 

9. Surface area of original solid = 4 x 6 x 4 + 4 x 4 x 2 =  128 cm2 

 Total surface area that is red = 128 + 2x2 + 2x2 = 136 cm2 

  

 

  

 

 

Ans:   136 cm2 
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10. a) 

 Mass of object A = 180 – 60 = 120 g 

 b) 

 Total mass of A,B,C = 660 – 60 = 600g 

 Average mass of A,B,C = 600 ÷ 3 = 200 g 

  

 

 
Ans:  (a)  120 g 
 (b)   200 g 

 

 

11. 
5
7
  of ribbon A = 

5
7
 x 294 = 210 cm 

 
7
9
  of ribbon B = 210 cm 

 
9
9
  of ribbon B = 210 ÷ 7 x 9 = 270 cm 

 Length of 3 frames = (294 + 270) x 3 = 1692 cm = 16.92 m 

 Number of rolls of ribbon = 16.92 ÷ 9 = 1.88 ≈ 2  

  

 

 

 

 

 

 

Ans:  2 rolls 
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12. Let total number of T-shirts = 100u 

 Number of large-sized T-shirts = 40u 

 Number of medium-sized T-shirts = 0.6 x 60u = 36u 

 Number of small-size T-shirts = 100u – 40u – 36u = 24u 

 Difference in price between medium-size and small-sized T-shirts =  

 36u x 10 – 24u x 8 = 168u = $672 

 u = 672 ÷ 168 = 4 

 Price of large-sized T-shirts = 40 x 4 x 18 = $2880 

 

 

Ans:   $2880 
 

 

13. a) 

 Area of triangle GDC = 
1
2
  x 14.4 x 20 = 144 cm2 

 Area of shaded part = 
5
6
  x 144 = 120 cm2 

 b) 

 Area of rectangle = 
5
3
  x 120 = 200 cm2 

 Length of AD = 200 ÷ 20 = 10 cm 

   

Ans:   (a)  120 cm2 

 (b)  10 cm 
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14. a) 

Additional distance of Alan = 60 m/min x 40 min = 2400 m 

 
2
5
  of distance  2400m 

 
5
5
  of distance  2400 ÷ 2 x 5 = 6000 m 

 Total distance = 6000 m 

 b) 

 Benny’s speed = 6000 ÷ 40 = 150 m/min 

 Alan’s speed = 150 – 60 = 90 m/mn 

 

 

 

 

         Ans:  (a)  6000 m  

          (b)  90 m/mn 
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15. Let number of bookmarks initially = b 

 Let number of stickers initially = s 

 At first, both Jason and Kevin’s ratio of bookmarks to stickers  
1
2
 b  : 

1
2
 s 

 At last, ratio of Jason’s bookmarks to stickers  
1
2
 b - 7 : 

1
2
 s 

At last, ratio of Kelvin’s bookmarks to stickers  
1
2
 b  : 

1
2
 s - 12 

 
1
2
 b – 7 = 

1
9
  x 

1
2
 s      (1) 

 9b – 126 = s      (2) = (1) x 18 

 
1
2
 b  = 

1
6
 x ( 

1
2
 s – 12)     (3)  

 9b = 
3
2
  s – 36     (4) = (3) x 18 

 
1
2
 s = 126 + 36 = 162    (5) = (4) – (2) 

 s = 162 x 2 = 324 

 9b  - 126 = 324     substitute s to (2) 

 b = (324+ 126) ÷ 9 = 50 

 a) 

Kelvin’s stickers at the end = 
1
2
 s – 12 = 

1
2
 x 324 – 12 = 150 

 b) 

 Bookmarks Jason bought = b = 50  

        Ans: (a)   150 
         (b)   50 
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16. Area of semi-circle = 
1
2
  x π x 16 x 16 = 128π cm2 

 Area of 2 quadrant = 
1
2
  x π x 8 x 8 = 32π cm2 

 Area of 2 crescents = 8 x 8 x 2 - 32π = 128 - 32π cm2 

 Area of rectangle = 16 x 8 = 128 cm2  

Area of shaded parts = 128π – 128 - (128 - 32π) = 160π  - 256 = 246.4 cm2  

             

         Ans:  246.4 cm2  

   

 
 
 

 
17. a) 

Number of lollipops $20 can buy = 20 ÷ 4 x 5 = 25 

 Number of candies $20 can buy = 20 ÷ 5 x 8 = 32 

 Difference in number in each set = 32 – 25 = 7 

 Number of sets required = 98 ÷ 7 = 14 

 Number of candies = 14 x 32 = 448 candies 

 b) 

 Cost of 14 sets = 14 x 20 = $280 

 Govin’s allowance = 
5
2
  x 280 = $700 

 

   

Ans:  (a)  448 candies 

 (b)  $700 

 


